AM Objective #7: WP: Quadratic Functions

1. A farmer has 844 feet of fencing available and wishes to enclose a rectangular area. If x
,\ represents the width of the rectangle, for what value of x 1s the area largest?

A) 2105 feet [B] 213 feet [C] 212 feet [D] ) none of these
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2. The demand for dnlls depends on their pnce. A manufacturer determnes that the number of

drills he can sell at a price of p dollars each is given by the formula 4 = — 2p? + 208p — 320.
At what price will the demand for the dnills be a maxmum?

[A] $80 [B] $40 [D] none of these
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AM Objective #7: WP: Quadratic Functions

3. Jafco Manufactuning estimates that its profit, mn hundreds of dollars, after producing

units can be expressed as P = —3x° +24x +2. How many units must be produced to obtain
the maxamum profit?

[A] 3200 [B]Xﬁmfm 4030 [D] none of these
i

4. The demand for saws depends on therr pnce. A manufacturer determunes that the number of

saws it can sell at a price of p dollars each is given by the formula d = — 3p* +72p - 200. At
what price will the demand for the saws be a masamum?
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